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From the following data compute the value of Py7.
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From the following data compute the value of Py7.

[ J0J1]2[3]4][5][6][7]8]
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From the following data compute the value of Py7.

[ J0J1]2[3]4][5][6][7]8]
[ i ]1]9]26[59|72[52[29][7]1]
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From the following data compute the value of Py7.
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From the following data compute the value of Py7.
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From the following data compute the value of Py7.
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[ fi]1]9]26[59]72 29 [7]1]
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From the following data compute the value of Py7.

[ J0J1]2[3]4][5][6][7]8]
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From the following data compute the value of Py7.

[ J0J1]2[3]4][5][6][7]8]
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From the following data compute the value of Py7.

[ J0J1]2[3]4][5][6][7]8]
1

[ fi]1]9]26[59[72][52]29[7][1]
X; f; C.F.
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From the following data compute the value of Py7.

[ J0J1]2[3]4][5][6][7]8]
1

[ i ]1]9]26[59|72[52[29][7]1]
X; f; C. F.
1 1
9 10
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59 95
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From the following data compute the value of Py7.

[ J0J1]2[3]4][5][6][7]8]
1

[ i ]1]9]26[59|72[52[29][7]1]
X; f; C. F.
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From the following data compute the value of Py7.

[ J0J1]2[3]4][5][6][7]8]
[ i ]1]9]26[59|72[52[29][7]1]

X f, C. F.

0 1 1

1 9 10

2 26 36

3 59 95

4 72 167

5 52 219

6 29 248

7 7 255

8 1 256

N=256
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From the following data compute the value of Py7.

[ J0J1]2[3]4][5][6][7]8]
[ i ]1]9]26[59|72[52[29][7]1]
X f, C. F.
0 1 1 Percentile divides data set
1 9 10 100 equal parts.
2 26 36
3 59 95
4 72 167
5 52 219
6 29 248
7 7 255
8 1 256
N=256
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From the following data compute the value of Py7.

[ J0J1]2[3]4][5][6][7]8]
[ fi[1]9]26]59]72 29 [ 7] 1]

ot
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Computing Po7 :
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From the following data compute the value of Py7.

[ J0J1]2[3]4][5][6][7]8]
[ i ]1]9]26[59|72[52[29][7]1]
X f, C. F.
0 1 1 Percentile divides data set
1 9 10 100 equaltl parts.
D) % 36 S)\;)H;putmg Py7 :
e have,
3 59 95 27N __ 27X256 __ 69.12
4 79 167 100 10  °7
5 52 219
6 29 248
7 7 255
8 1 256
N=256
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From the following data compute the value of Py7.

[ JOJ1]2[3]4[5][6]7]8
[ i ]1]9]26[59|72[52[29][7]1]
X f, C. F.
0 1 1 Percentile divides data set
1 9 10 100 equalxl parts.
5 % 36 S)\;)rr;lputmg Py :
e have,
3 59 95 27N __ 27X256 __ 69.12
4 79 167 100 — 100 7
Cumulative frequency just
5 52 219 .
greater than 69.12 is 95, and
6 29 248 .
Z - 555 the corresponding value of
the variable is 3.
8 1 256
N=256
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From the following data compute the value of Py7.

[ J0J1]2[3]4][5][6][7]8]
[ i ]1]9]26[59|72[52[29][7]1]
X f, C. F.
0 1 1 Percentile divides data set
1 9 10 100 equalxl parts.
5 % 36 S)\;)rr;lputmg Py :
e have,
3 59 95 27N __ 27X256 __ 69.12
4 79 167 100 — 100 7
5 5 519 Cumulative frequency just
5 29 918 greater than 69.12 is 95, and
Z - 555 the corresponding value of
the variable is 3.
8 1 256 Then Py7=3
N=256
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